Mathematics

Difference of Two Squares

Mrs Buckmire
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Try this

Expand and simplifty

(x+2)(x —2) (x —5)(x +5)

What do you notice?

(x + 2.5)(x — 2.5)
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Independent task

Binh has completed some questions. Correct and explain her mistakes.
She has expanded and simplified the following expressions:
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Explore

Xavier says....

s he correct?

How could you calculate

352 — 1547
192 — 927
382 — 1227

Explain why this works.
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| can work out 45% — 154

by calculating 60 x 30
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GCenerate your own calculations that can be found using a similar ‘trick’.
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